
17.05.2021

L.C Can you add two 4 digit 

numbers with and without 

exchanges?



3)   1,300 = ____ hundreds 

2)   16 tens = ___ hundred and ___ tens 

1)   10 tens = ___ hundred



3)   1,300 = ____ hundreds 

2)   16 tens = ___ hundred and ___ tens 

1)   10 tens = ___ hundred1
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Th H T OTh H T O
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4) 3,657 + 5,227

No

exchange

Exchange 

100s for 

1,000s

Exchange

10s for 100s

Exchange 1s 

for 10s

3) 8,610 + 1,283

1) 2,022 + 7,085

2) 813 + 2,471

1)2)3) 4)

Have a think



Th H T O

6 8 7 9

+ 1 3 1 5

9 1 9 4

9 + = 4

1

1

9 + = 145

5

hundreds + 3 hundreds = 1 hundredhundreds + 3 hundreds = 11 hundreds8
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1
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18.05.2021

L.C Can you subtract two 4 

digit numbers with and 

without exchanges?



1)   Calculate 352 − 140 

2)   Subtract 53 from 284

3)  Find the difference between 408 and 103



1)   Calculate 352 − 140 

2)   Subtract 53 from 284

3)  Find the difference between 408 and 103

212

231

305



Th H T O

4,562 − 3,152 =

−

Th H T O

4 5 6 2

3 1 5 2

0141

1,410



Th H T O

7,438 − 7,206 =

−

Th H T O

7 4 3 8

7 2 0 6

2320

232



Th H T O

8,229 − 6,145 =

Th H T O

8 2 2 9

6 1 4 5

4802

2,084

1 1



Th H T O

1 hundred − 5 hundreds =

−

Th H T O

4 1 5 4

1 5 2 2

2362

2,632 km

A cyclist rides 4,154 km in May.  

In June she cycles 1,522 km.

How many more km does she cycle during 

May?

1 thousand = 10 hundreds 

3 1

11 hundreds − 5 hundreds =

May

June

4,154

1,522
?



19.05.2021

L.C Can you add and 

subtract numbers to solve 

problems?


